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5n 5.01n 5.02n 5.03n 5.04n

Derivative=-1.32e+11
Slope=-6.51e+10
DeltaY=1.25e+00
DeltaX=1.92e-11
Current Y=1.25e+00
Current X=5.02e-09
Y1=2.50e+00
X1=5.00e-09

Derivative=-1.42e+11
Slope=-6.84e+10
DeltaY=1.25e+00
DeltaX=1.82e-11
Current Y=1.25e+00
Current X=5.02e-09
Y1=2.50e+00
X1=5.00e-09

* # file name: /home/aa/ugrad/billhung/cadence/simulation/inv3/h
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Time (lin) (TIME)
44.9n 45n 45.1n 45.2n 45.3n 45.4n

Derivative=4.65e+10
Slope=3.27e+10
DeltaY=1.25e+00
DeltaX=3.83e-11
Current Y=1.25e+00
Current X=4.50e-08
Y1=-2.85e-03
X1=4.50e-08

Derivative=4.70e+10
Slope=3.52e+10
DeltaY=1.25e+00
DeltaX=3.55e-11
Current Y=1.25e+00
Current X=4.50e-08
Y1=-4.86e-04
X1=4.50e-08

* # file name: /home/aa/ugrad/billhung/cadence/simulation/inv3/h
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